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QUESTION 1

The median is a better choice than the mean for a measure of central tendency if the data:
A. is bimodal

B. often has outliers

C. is normally distributed

D. is exponentially distributed

Correct Answer: B

QUESTION 2

A fundamental rule is that both Standard Deviation and Variance can be added.
A. True

B. False

Correct Answer: B

QUESTION 3

Perform a risk analysis to determine the expected profit or (loss) from a project which has four possible disjoint
outcomes: Outcome A shows a profit of $340,000 and has a probability of 0.25 Outcome B shows a profit of $120,000
and has a probability of 0.40 Outcome C shows a loss of $40,000 and has a probability of 0.10 Outcome D shows a
profit of $100,000 and has a probability of 0.25

A. $130,000

B. $520,000

C. $154,000

D. ($168,000)

E. none of the above

Correct Answer: C

QUESTION 4

If an experiment has 5 factors and no replicates for a 2-level Experimental Design with 16 experimental runs which
statement is incorrect?

A. The Experimental Design is half-fractional
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B. The Main Effects are confounded with only 4-way interactions

C. The Main Effects for the 5 factors are not aliased or confounded but the 2-way interactions are confounded with the
3-way interactions

D. The experiment has 8 experimental runs with the first factor at the high level

Correct Answer: C

QUESTION 5

Fractional Factorial Designs are used to analyze factors to model the output as a function of inputs if Hypothesis Testing
in the Analyze Phase was inadequate to sufficiently narrow the factors that significantly impact the output(s).

A. True
B. False

Correct Answer: A
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